% F E & &5 (22~28)
U | R F—LI ek [FIBC|ATBR|ALIHR| ST | So [SS| SE | HL | S [ M1 [ M2 | M3 | Mg
&1 | 22 e | 8(18) | 351 | 160 | 0.46 | 54 | ? |41 [0.04| 106 | 31 | 7 [157| < | &
WigE | 23 |[@KkBT.257|25(54) (1,057 459 | 0.43 [ 203 | 70 | 70 | 0.13 | 372 | 2 | 29 [395| < | 28
&F | 24 EHET | 400) [ 165 | 72 [ 0.44 | 25 18 [ 0.04 | 49 | 29 | 19 [ 67 | 40 | 16
&t | 24 757 36) [ 103 | 55 | 0.53 [ 19 7 (012 42 [ 12 | 9 [23]25] 10
WigE | 25 |@kBT.257| 37087 (1,855 728 [ 0.39 | 288 | 31 | 99 | 0.10 | 827 | 157 | 189 | 410 [558 | 76
&1 | 25 |75 70—k 1023) [ 224 | 108 [ 048 [ 36 | 3 |16 | 0.09 | 119 | 23 [ 12 | 68 [ 61 | 9
Wik | 26 EkBET | 25(59) |1,091] 446 | 0.41 | 186 | 20 | 36 | 0.14 | 502 | 105 | 63 [ 184 | 48 | 48
Wi | 27 mRHET | 18(43) | 770 | 327 | 0.43 | 123 | 29 | 37 | 0.11 | 400 | 50 | 45 | 168 | 61 | 28
Bk | 28 BT | 6004 [266 | 98 [037 |43 | 0 |14 |011 | 95 [ 28 | 28 | 62 | 76 | 27
&1 126,27 757 1022) [ 497 | 216 | 045 | 59 | 12 [ 25 [ 0.07 | 239 | 41 | 44 | 87 [193] 33
3(6)
&1 | 28 757 7(18) [ 345 | 38 [040 | 56 | 4 |18 | 0.11 | 197 [ 22 | 31 | 79 [ 79 | 18
e | 26 Ektcy | 18(43) | 716 | 366 | 0.51 | 110 | 17 | 44 | 0.09 | 298 | 82 | 68 |214 [169 | 41
e | 27 Eicy | 6(13) [ 236 | 120 [ 051 | 45 | 7 |19 | 011 | 83 | 32 | 19 | 75|63 5
Frid | 28 mkt | 5(13) | 216 | 111 | 051 | 53 | 0 |13 [0.19 | 76 | 17 | 15 [ 72 | 54 | 17
BEFLEk

25.27| FTE & 7(17) [ 286 | 105 [ 0.37 | 22 | 2 | 18 | 0.01 35

25 Eifae | 401 | 159 | 74 | 0.47 | 22 3 ]0.12 27

26.27| TE=&E 3(7) | 124 | 47 038 | 7 2 |13 | —- 20

26.28 | HE_@& 36) [ 142 | 56 | 0.5 [ 12 5 | 0.06 18




BEFI29EE &

(53

5 1 W\H &7)

FIE | A7 K 4 B | FTEC (AT ATR | Sp | S2 [SS| S% [ | S | M1 | M2 [ M3 |Mg
1 |BC.HC| #ama = 4(10) | 20 14 | 070 | 2 2 | 0.00 1 3| 4
2.6 | HC NGRS 5 3(8) 20 5 025 | 3 1 1 | 0.10 1 2 2 1911
3.5 | HR BRIEIR 3(8) 22 7 1032 2 1 0.09 1 1 | 4
48 | HL INIE T 4(10) | 26 12 | 046 | 5 1 [015] 34 | 2 16171
5 FC FRR R 2(5) 7 2 1023 2 0.23 | 12 1 2 1] 2
6 BL &1 1E 4(10) | 16 5 031 3 3 | 0.00 3 311
74| FL wEIREE | 400) | 14 4 1029 | 1 1 | 0.00 | 17 5151113
8.3 |BL,BC| f{&ik # 4(10) | 25 11 | 044 | 6 2 | 0.16 3 3 |2
9.2 |FR,FC | MAR=H} 410) | 19 5 | 026 | 4 1 021 | 5 11213112
5 HR A ERE 1(2) 4 2 | 050 | 1 0.25 2
7 BR fiol FH B 1(2) 12 3 | 0.25 1|2 | — 2 5 |1
9 FR RAE] 2(3) 5 0 [ 0.00 1| — 4 1] 3 [1
gt 410) | 190 | 70 | 037 | 29 | 4 |13 0.08 | 74 | 14 | 9 [ 41 |38 |11
BELEk
& s 2(5) 107 | 80 | 0.47 | 14 4 1 0.03 15




HER29FEE & &K X 1T GBH)
FI0E | friE K4 AUEE | FTRC| ATEC | ATHR | S) [ S2 | SS | SE | S| S | M1 [ M2 [ M3 | Mg
1 BC |HFMbDAT| 4B | 16 8 | 050 | 5 2 |0.19 4 5 | 4
2 FR [MgEERT | 4Q) | 20 8 [040 | 5 0.25 | 13 2 | 7
3 HL | &EIFL | 36) 7 5 071 | 1 0.14 | 4 1 3 7
4 | HC | afE%r | 4® [ 23 | 10 [ 0.61 | 6 2 026 1 3 315 |1
5 | BR [HZzTTF| 48 | 13 8 033 2 1 |0.08 5 2 | 5
6 | HR | MEEET | 4Q) | 17 1 0.06 1 | — 1 1 2 | 4
7 BR | #al#&T | 30660 | 11 1 0.09 7 | — 2 3
8 FL | &7&7F | 4Q | 10 3 030 | 2 3 | — | 10 1 6 | 1
9 FC | HHA% | 4B | 10 4 1040 | 1 1 |0.00]| 16 9 | 18 3
3.7 | HR,L |RlEBikiE 1| 2(4) | 10 5 0.50 | 2 1 (010 3 1 1 6 1
at 48 137 | 53 [039 [ 24| 0 [ 10 [010| 48 [ 15 [ 12 |49 |35 | 5
SE bk
mEfnE | 12 | 42 | 16 [ 038 | 9 1 |0.19 9
Nl 12 [ 40 | 12 [ 0.30 | 5 2 10.08 5




WEFI29%EE 7 Z T (&F)
FIlE | Ao K A | AWlGE | 8| AT% | ATR | S1 [ S | SS | SR [ /& | S | M1 [ M2 | M3 | Mg
1.2.9 | HL ITEEBA A 9(20) | 27 10 0.37 1 1 7 — | 66 1 5 8 4
2.1 BC FHEARE | 6(14) [ 39 19 0.49 7 0.18 4 3 | 20
3 FC K& B 6(14) | 39 11 0.33 3 1 4 — | 31 5 2 2 3
4.1.6 | BR g R 9(19) | 30 8 0.27 4 4 | 0.00 6 2 | 10
5 FL BT —Hf 4(10) | 27 11 0.41 7 0.26 | 34 6 6 4
6.8 |BLBR| GHE 5 3(6) 14 4 0.29 2 0.14 5
6.8 BL INERTER | 7(14) | 33 8 0.24 3 1 |0.06 7 4 |11 | 1
7.5.4 |HRBL| =HER 6(13) | 30 8 0.27 1 0.03 2 8
8.7 FR If<%-$N 6(12) | 12 5 0.42 2 0.17 | 14 2 1
8.6 |FRBL | WNiE#H— 8(15) | 22 4 0.18 1 — | 27 7 7 7
9 HC | #EIESKES | 49 10 2 0.20 1 — 2 3 | 20
9.2 HC RN TS 2(2) 2 0.00 2 — 1
BR FHPIE 3(4) 10 4 0.40 1 — 1 1 1
BR IEFSTN 2(2) 7 5 0.71 3 2 10.14
5 FR EifE 2(2) 4 1 0.25 1 — 3 1 1 1
3.4 HR GRER 5(10) | 19 5 0.26 3 0.16 | 1 4 13| 1
4.2 HC INEIEEEL | 59) | 26 7 0.27 3 2 10.04 2 | 11
9.5 HL NI B 5(8) 14 5 0.36 2 0.14 | 16 2 5 | 12
5 FR HOR 1 3(4) 7 1 0.14 1 0.14 | 11 2 1
at 9(20) | 366 | 118 | 0.32 | 42 2 26 [0.04 | 193 | 25 [ 21 [ 52 [131 | 19
BE Lk
k57T | 206) | 71 24 0.34 8 5 |0.04 10
B A 2(5) | 89 29 0.33 8 6 0.02




